LMS_17M1 YB spectral tristimulus value excitatio

By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]

MsE, D(A)=[0,5117ms, oA +0,5M 75, p(A)]

£,0(\)=S17mse,p(A); EOO, D65
X17msg,0-0,3333; 0,3333
Y17MsE, D—O 3333, 0,3333

3817MmsE,0(M)=100,00; 99,99
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LMS_17M1 YB spectral tristimulus value excitatio

By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]

Mse, DA)=[0,5117ms, oA +0,5M 75, DA)]
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LMS_17M1 YB spectral tristimulus value excitatio
By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]
s€,0(M)=[0,517ms, oA +0,5M 75, oA)]
£,0(\)=S17mse,p(A); EOO, P40
X17msg,0-0,3333; 0,3333
Y17MsE, D—O 3333, 0,3333
3817MmsE,0(M)=100,00; 99,99
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LMS_17M1 YB spectral tristimulus value excitatio
By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]
£,0(M)=[0,517sE oM)+0,5M 7, DM
DA)=s17mse p(A); E00, A0O
X17msg,0-0,3333; 0,3333
Y17MsE, D—O 3333, 0,3333
3817MmsE,0(M)=100,00; 99,99
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LMS_17M1 YB spectral tristimulus value excitatio

By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]

MsE, DA)=[0,5117ms, oA +0,5M 75, p(A)]

£,0(\)=S17mse,p(A); EOO, E0O
X17msg,0-0,3333; 0,3333
Y17MsE, D—O 3333, 0,3333

3817MmsE,0(M)=100,00; 99,99
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LMS_17M1 YB spectral tristimulus value excitatio
By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]
Yazmse, oA)=[0,517wsE, 0N +0.5M 7ms, pA)]
£.0A)=s17mse,0(A); E0O, COO
X 7msE,570,3333; 0,3333
yl7MSE,D:O’3333; 0,3333
5175, 0(\)=100,00; 99,99
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LMS_17M1 YB spectral tristimulus value excitatio
By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]
s€,0(M)=[0,517ms, oA +0,5M 75, pA)]
£,0(\)=S17mse,p(A); EOO, POO
X17msg,0-0,3333; 0,3333
Y17MsE, D—O 3333, 0,3333
3817MmsE,0(M)=100,00; 99,99

500 600 700
wavelengthA /nm

CE040-8A 1



LMS_17M1 YB spectral tristimulus value excitatio
By 7mse,0(A)= 109 [@17msE, M) Y1 7MsE, D]
MsE,DA)=[0,5117ms, oA +0,5M 75, p(A)]
£,0(\)=S17msE,0(A); EOO, QOO
X17msg,0-0,3333; 0,3333
Y17MsE, D—O 3333, 0,3333
3817MmsE,0(M)=100,00; 99,99
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